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1. Solve linear programs where all xi >=0: 

	x1
	x2
	-2
	-x5

	1
	2
	3
	4
	= x3

	1
	-2
	0
	-1
	= -x2

	0
	2
	-3
	0
	→ max


Rearrange the tableau to into standard form:

	x1
	x2
	1
	x5

	1
	2
	-6
	-4
	= x3

	-1
	2
	0
	-1*
	= x2

	0
	-2
	6
	0
	→ min


Pivot on the -1 in row 2 column 4:

	x1
	x2
	1
	x2

	5
	-6
	-6
	4
	= x3

	-1
	2
	0
	-1
	= x5

	0
	-2
	6
	0
	→ min


Combine column the two x2 columns:

	x1
	x2
	1

	5
	-2*
	-6
	= x3

	-1
	1
	0
	= x5

	0
	-2
	6
	→ min


[6 in the above 3 tableaux should be -6 --- Bethany Yun]
Pivot on the -2 in row 1 column 2:

	x1
	X3
	1

	5/2
	-1/2
	-3
	= x2

	3/2
	-1/2
	-3 
	= x5

	-5
	1
	0
	→ min


The first column is a bad column;  LP is unbounded 
min → -∞ as x1 → +∞
2. Solve linear programs where all xi >=0: 

	2x1
	-x2
	1
	x5

	1
	-2
	3
	4
	= x3

	1
	2
	0
	-1
	= -x4

	0
	-2
	-3
	-2
	→ min


Rearrange the tableau into standard form:

	x1
	x2
	x5
	1


	2

	2

	4

	3

	= x3

	-2

	2

	1

	0

	= x4

	0

	2

	-2

	-3

	→ min



	


The third column is a bad column; LP is unbounded
min → -∞ as x2 or x5 → +∞
5. Solve the following job assignment problem:
	1
	2
	3
	4
	2

	2
	3
	4
	1
	2

	3
	2
	1
	3
	1

	1
	3
	4
	5
	1

	5
	5
	2
	1
	0

	
	
	-1
	
	
	

	-1
	1
	2*
	3
	4
	2

	-1
	2
	3
	4
	1*
	2

	-1
	3
	2
	1*
	3
	5

	-1
	1*
	3
	4
	5
	1

	
	5
	5
	2
	1
	0*


	0
	0*
	2
	3
	1

	1
	1
	3
	0*
	1

	2
	0
	0*
	2
	0

	0*
	1
	3
	4
	0

	5
	3
	2
	1
	0*


The Zero-sum is possible and is the optimal solution: min = 1 + 2 + 1 + 1 + 0 = 5

